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FOREWORD

The Certificate of Secondary Education Examination (CSEE) marks the end of the
four years of secondary education. It is a summative evaluation which among other
things shows the effectiveness of the education system in general and education
delivery system in particular. Essentially, the candidates’ responses to the
examination questions is a strong indicator of what the education system was able
or unable to offer to the candidates in their four years of secondary education.

This report analyses some of the factors that contributed to understanding some of
the reasons behind the performance of candidates in the Commerce subject. The
analysis shows that the candidates who performed well were able to provide correct
responses to the questions. They had adequate knowledge of the subject matter,
were able to identify the demands of the questions and provided clear explanations
on the concepts. Furthermore, it was observed that, poor performance by some
candidates was due to misinterpretations of the questions, insufficient knowledge to
the subject matter, poor organization of ideas and poor mastery of the English
Language. The feedback provided will enable the educational stakeholders to take
the appropriate measures to improve candidates’ performance in future.

The National Examinations Council of Tanzania will highly appreciate remarks,
opinions and recommendations from all stakeholders, which will facilitate better
preparation of Examiners’ Reports in the future.

Finally, the Council would like to thank all the Examiners and all who participated
in the preparation of this report. We would also like to express sincere appreciation
to all staff members who participated in analysing the data used in this report.

A

Dr. Charles E. Msonde
EXECUTIVE SECRETARY

v



1.0

INTRODUCTION

This report analyses the candidates’ performance in Commerce
examination for the candidates who sat for Certificate of Secondary
Education Examination (CSEE) on 13" November 2015.

The paper consisted of ten (10) questions divided into three sections,
namely section A, B and C. Section A consisted of 2 (two) questions each
carried 10 marks. Section B consisted of four (4) short answer questions
each carried 10 marks. Section C consisted of four (4) essay questions
each carried 20 marks. Questions in section A and B were compulsory
while in section C candidates were required to answer only two questions.

A total number of 22,251 candidates sat for Commerce examination in
2015 of which, 8,014 (36.08%) passed and 14,200 (63.92%) failed
whereas in 2014 a total of 17,358 candidates sat for the examination of
which 5,952 (34.29% passed. This indicates that in 2015 the performance
of the candidates increased slightly by 1.79% as compared to 2014.

The pass mark for each question was 30 percent and above of the marks
allocated. The candidates’ range of scores of 45 to 100, 30 to 44 and O to
29 percent shows good, average and weak performance respectively in
2015. However, in 2014 the ranges of scores were 50 to 100 (good), 30 to
49 (average), and 0 to 29 (weak). The candidates’ performance is
summarized in the appendix attached where by green colour represents
good performance, yellow depict average and red colour indicates weak
performance. The colours are also used in the different charts and graphs
to illustrate the candidates’ performance in various questions.

This report analyses the performance of candidates in each question. It
further provides the requirement of each question and the reasons behind
candidate’s performance in a particular question. It highlights the
strengths and some misconceptions observed in the candidates’ scripts.
The samples of candidates’ poor and good responses are used to illustrate
the candidates performance in individual/various questions therefore the
report will be useful to the teachers, candidates and other stakeholders for
the purpose of improving teaching and learning of Commerce subject.



2.0 ANALYSIS OF PERFORMANCE OF CANDIDATES IN EACH
QUESTION

2.1

Question 1: Multiple Choice

This question consisted of ten (10) multiple choice items (i) — (x),
which were composed from various topics of the syllabus such as
Business Units, Trade documents, International Trade, Theory of
Demand, Communication, Production, Taxation and Banking.
The candidates were required to choose the correct answer among
the given five alternatives. Each item carried 1 mark, making a
total of 10 marks.

The analysis shows that 100 percent of candidates attempted this
question out of which, 13.9 percent scored from 5 to 10 marks.
Furthermore, the analysis shows that 49.2 percent scored from 3
to 4 marks. 39.9 percent scored from 0 to 2 marks of which 4.2
percent scored a 0 mark. The overall performance in this question
was good as 63.1 percent of the scored an average of 30 percent
and above.

Though the performance in this question was good, 36.9 percent
of the candidates scored below the average of 30 percent of the
marks allotted as shown in Figure 1. These candidates had
insufficient knowledge on various subject matter examined.
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Figurel Candidates’ performance in question 1



In item (i), the candidates were required to identify a document
used by the company to invite the general public to buy shares.
The correct answer was C “Prospectus”. The candidates who
chose the correct answer had adequate knowledge of necessary
documents used in the formation of the company. However, those
who opted for A “Memorandum of Association” confused the
contents of the Memorandum of Association. The Memorandum
of Association is designed to govern the relationship of the
company with the outsiders but not specifically for invitation of
shares. Some candidates who opted for B “Articles of
Association ” failed to identify the rules and regulations contained
in the articles of association. The Articles of Association deals
with the internal organization of the company. Also option D
“Certificate of trading” and E “Certificate of incorporation” were
not correct because the two documents give a company a legal
existence and the power to commence the business respectively
and not to buy shares.

Item (ii), required the candidates to analyse the reason for issuing
a debit note. The correct response was B “to correct an
undercharge in an invoice”. A seller has to issue a debit note to a
buyer to inform him/her that his/her account has been debited with
the amount which in error had not been shown in the invoice
issued. Some candidates who opted for A “to correct any error in
an invoice” were wrong because the corrections made on an
invoice must be specific, whether over or under charge of an
invoice. The candidates who opted for C “to correct an overcharge
in an invoice” failed to differentiate a credit note from a debit
note. A credit note is used to correct overcharge in an invoice.
Moreover, candidates who opted for D “to correct an overcharge
in account” and E “to correct an undercharge in account were also
wrong because the options did not specify the account to be
corrected whether debtor’s or creditor’s account. Debit note is
specifically used for correction of an invoice and not an account
but it is used as a source to document to correct customer account.

In item (iii), the candidates were required to identify the principle
which is applied by a country in making a decision to produce
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goods or services that brings a greatest advantage to the country.
The correct response was C “Comparative advantage”. The
candidates who opted for A “absolute advantages” failed to
differentiate between comparative advantage and absolute
advantage. The absolute advantage principle states that if a
country can produce a certain commodity more efficiently and
profitably then it is better to produce than to buy from outside.
Also the principle is applicable if the country has a monopoly of
producing a certain product. On the other hand, the candidates
who chose B, “competitive advantage”, were also wrong because
competitive advantage specifically aim at capturing the market.
The candidate who opted for D “cooperative advantages” lacked
knowledge on the principles applied in international trade in
importing or exporting the goods because cooperative advantage
is found in Business Units topic. All candidates who opted for the
distractors were attracted by the word advantage that appeared in
the distractors and in the stem.

Item (iv), required the candidates to determine the price elasticity
of demand for the given data as:

Find the price elasticity of demand using proportionate
change method for maize when demand falls from 800 kg
to 600 kg due to increase in price from shs 40 per kg to
shs 60 per kg?

A 3 B __3 C @
4 4 21
-20 E —_1
21

, 1
The correct option was “E”_E however, the last result could be

multiplied by negative 1 to give a positive figure which allows for
interpretation of the value obtained.
On the other hand, the candidates who failed to choose the correct

response applied an incorrect formula which is used to compute

3
the price elasticity of demand. Those who chose A 1 took the
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original quantity over new quantity which was an inappropriate
3 :
formula while those who chose B 2 computed it by using

negative original quantity over new quantity and ignored the
prices. Generally, the use of an incorrect formula led them to
choose the incorrect responses.

In item (v), the candidates were required to identify from the
given alternatives the factor which should not be taken into
consideration while communicating. The correct response was D
“the evidence of communication”. Options A “the source of
communication”, B “the consent of the message”, C “the process
of which the communication is processed” and E “the method by
which the message is transmitted” are factors to be considered
when communicating thus candidates who opted for them might
have ignored the word “should not” in the stem of the question.

Item (vi) tested the candidates knowledge of the classification of
production. The correct response was B “industries, commerce
and direct services” the candidates who opted for the correct
option had sufficient knowledge on the production flow chart
from which the main classes of production is drawn. The
candidates who opted for the wrong options failed to differentiate
the main classes of production from sub classes of production.
Those who opted for A “constructive, extractive and
manufacturing industries” failed to recognize that all that stands
for industry(ies) which is a sub classes of production. Some
candidates who opted for C “industries, trade and aids to trade”
failed to realize that trade and aids to trade forms commerce thus
two classes of production. Candidates who opted for D “home
trade, aids to trade and direct services failed to recall that home
trade is sub branch of trade and aids to trade are among the branch
of commerce, but direct service is a branch of production so they
cannot form production. The same case applied to those who
opted for E “foreign trade, aids to trade and direct services” the
only difference is that foreign trade is a branch of trade which
involves buying and selling of goods and services outside the
country.



Item (vii) required the candidates to identify the correct name
given to a document sent by the seller to the buyer showing the
details of the commodity and its total value for which the receiver
will have to pay. The correct response was C “invoice”, the
candidates who opted for the correct response had sufficient
knowledge on various documents used in home trade. However,
some candidates who opted for A “consignment note” did not
know that a document is only used whenever goods are sent on
consignment. Furthermore, other candidates who opted for B
“delivery note” were attracted by the word receiver in the
question and related it with the word deliver from the options. The
candidates who opted for D “proforma invoice” failed to
differentiate invoice from proforma invoice. Proforma invoice
does not make the importer responsible to pay (it does not bill the
importer). Those who opted for E “consular invoice” failed to
realize that consular invoice is an invoice of the exporter which is
certified by the consul of the importing country who is stationed
in the exporting country.

In item (viii), the candidates were required to identify the canons
of taxation which shows clearly the amount to be paid to the state
by the tax payer. The correct answer was C “certainty”, the
candidates who opted for the correct response understood the
meaning of the canons tested thus identified the correct response
from other distractors. The candidates who opted for A
“Convenient” failed to understand its meaning in relation to the
question. The convenient canon of taxation states the time and
manner of collecting tax which is convenient to the tax payer and
the government. The candidates who opted for B “Equity” failed
to realize that in equity canon the burden of taxation must be
proportional to the payers’ income. However, all candidates who
opted for D “Economy” failed to understand that the canon states
about the cost of tax collection. Furthermore, those who opted for
E “productivity” were wrong because in productivity the tax rate
should be easy to adjust. This can generally be concluded that,
candidates who failed to opt for the correct response lacked
knowledge of the canons of taxation.



2.2

Item (ix) required the candidates to identify the place where Ex
works price quotation is charged. The correct response B
“manufacturer’s premises”, was chosen by the candidates who
were familiar with the fact that, the buyer will be responsible to
collect his/her goods from manufacturer’s premises and incur all
other costs to his/her premise. Those who opted for A “bonded
warehouse premises” and E “public warehouse premises” did not
understand the incoterms because the options are not among the
list of incoterms. Those who opted for C “port of destination”
were not aware of the term because in this case the price quotation
includes transportation cost from the seller to the buyer’s
premises.

In item (x), the candidates were required to identify the bank
whose function is to issue the legal tender currency in any
country. The correct response was B “Central Bank”. The
candidates who opted for the correct response understood the
functions the Central bank and that of commercial banks therefore
managed to identify the correct response. Candidates who opted
for D “Bank of Tanzania” misinterpreted the question because the
question focused on any country and not Tanzania in particular.
Those who opted for A “Commercial banks” failed to differentiate
the functions of the Central bank from those of the commercial
banks. Others who opted for C “Investment bank” and E
“National Bank of Commerce failed to realize that the options are
referred to Commercial banks.

Question 2: Matching Items

The question was composed from Insurance topic. It intended to
measure the candidates’ knowledge on different terms as used in
insurance. It consisted of (10) matching items. The candidates
were required to match the items in Column A with responses in
Column B by writing the letter of the correct response from
Column B.

The analysis shows that the question was attempted by all (100%)

candidates of whom, 10.1 percent scored from 5 to 10 marks. 24.4

percent scored from 3 to 4 marks. Furthermore, 65.5 percent
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scored 0 to 2 marks out of which 22.9 percent scored a 0 mark.
The statistical data show that the performance in this question was
average as 34.5 percent of the candidates scored an average of 30

percent and above of the marks allotted.

The question was as presented in the table below:

(viii)  Insurance contract for the
protection of loss caused by
unlawful possession of goods
from the insured person.

Column A Column B
(i) The close connection between
what makes the loss and risk| A  Reinsurance
insured.
B Fidelity insurance
(ii) Loss/damage to vessels, cargo
or passengers during C End i
transportation in high seas. ndaowment policy

(iii) sze means by wﬁich some ofthe D Marine insurance
risks incurred in the business
can be overcome. )

E  Proximate cause

(iv) The situation where an insurer
takes the risks to another| F  Indemnity
insurance company to cover
part of its risk. G Cover note

(v) The amount paid to the insured
who no longer wishes to| H Insurance
continue with an insurance | |  [ivestock insurance
contract. )

(i) A temporary policy issued | 7 Double insurance
before the actual policy has | g Life assurance
been issued.

L  Plate glass insurance

(vii)  Compensation to an I d ;

employer whose money or urrender vatue
goods has been stolen by an | N  Burglary insurance
employee.

Py O Insurable interest




(ix)  The sum assured is payable
at the expiration of the
specified period or if the
assured dies before the period
expired.

(x) The insured should be in the
same financial position as
before the risk occurred.

The candidates who scored high marks (5 to 10) in this question
showed greater understanding of different insurance principles
and terminologies. The items which were correctly responded by
most of these candidates were item (i), (i), (iv), (vi) and (x) while
items (vii), and (ix) challenged most of the candidates.

In item (i), the correct response was E “Proximate cause” most of
the candidates opted for the correct answer. They understood well
the principle of proximate cause. However, very few candidates
were attracted by distractors F “indemnity” and O “insurable
interest”. Such candidates failed to differentiate various principles
of insurance by their key features. The candidates who opted for
O ‘insurable interest” were attracted by the word connection from
the stem of the question and related it with the meaning of
insurable interest which states that the insurer in person must
suffer the financial loss from the occurrence of the event (the
insurer feel the pinch in connection with the loss occurred).

In item (ii), the correct response was D “marine insurance”.
Majority of the candidates managed to realize that marine
insurance is involved in the transportation of goods, passengers
and the vessels in the sea. However, few candidates matched it
with incorrect options like L “plate glass insurance”. Such
candidates were attracted by the word damage and related it with
plate glass assuming that plate glass in nature can easily be
damaged. The candidates who opted for K “life insurance”, were
attracted by the word passengers from the question and thought
that because life insurance involves the insurance of a person then
life insurance could be the right answer. Candidates who opted for

9



C “endowment policy” didn’t understand that endowment policy
is a type of life insurance and deals with peoples’ life and not both
people and properties.

In item (iii), the correct response was H “insurance”. The
candidates who opted for the correct option understood that
insurance aims at overcoming the risk. Some of the candidates
who failed to respond correctly chose J “double insurance”, such
candidates were attracted by the word insurance from the options
but failed to realize that in double insurance the same property is
insured in more than one insurance company but once the event
occurred the principle of indemnity will be applied in
compensation.

In item (vii), the correct response was N “burglary insurance” but
many candidates opted M “surrender value”. They failed to recall
the meaning of surrender value which is the amount of money
paid to insured whose insurance contract is terminated while
burglary insurance is a contract which protects the loss caused by
unlawful possession of goods from the insured.

In item (ix), the correct response was C “endowment policy” but
most of the candidates opted G “cover note” which is a document
given to the insured soon after paying the first installment of the
premium require.

However, most of the candidates who scored low marks from (0
to 2) failed to opt for the correct responses. Those who managed
to score at least 1 mark responded correctly to some of the items
which seemed to be conversant to them. Such is like item (iii) H
“insurance”, which was chosen by many candidates because the
meaning of insurance itself attracted them through some word like
to overcome the risk incurred. Other candidates scored marks
from item (x) F “indemnity” understood that insurance does not
intend to benefit the insured but to restore him/her to the financial
position as before the occurrence of loss.

10



2.3

Question 3: Stock Administration and Warehousing

This question was divided into three parts (a), (b) and (c). In part
(a), the candidates were required to explain in brief the term
“stock administration”. In part (b), they were required to elaborate
functions of stock administration and in part (c) to list the
advantages of a bonded warehouse to the government.

The data show that the question was attempted by all (100%) the
candidates. However, the performance in this question was poor
as 70.3 percent scored from 0 to 2.5 marks among them 31.4
percent scored a 0 mark, 15.7 percent scored from 3 to 4 marks
and 14 percent scored from 4.5 to 10 marks.

Some candidates with poor performance (0 to 2.5 marks) failed to
understand the demand of the question, and others had partial
knowledge of some parts of the question. Some of these
candidates mentioned few functions of stock administration like
receiving and issuing of goods. Others listed few points on the
advantages of a bonded warehouse. Moreover, the candidates who
scored a 0 mark could neither provide a brief explanation on the
term stock administration and elaborate its functions nor list the
advantages of a bonded warehouse to the government. For
example, some responded to part (b) incorrectly by outlining types
of stock level like minimum stock, average stock and maximum
stock instead of elaborating the functions of stock administration.
Extract 3.1 is a sample of poor response from a candidate who
failed to adhere to the demand of the question.
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Extract 3.1
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Extract 3.1 is a sample of poor response from a candidate who
scored a 0 mark. In part (a) the candidate tried to define stock
taking instead of stock administration; in (b), the candidate listed
the activities done under some of the functions of stock
administration and in (c), he/she listed the points which relate to
the general functions of a warehouse though the sentences were not
clear.

However, the candidates who scored from 3 to 4 marks showed a
better understanding of the task on some parts of the question
although they had some weaknesses in responding to the question.
Some weaknesses noted from their responses include; mentioning
the functions of stock administration instead of elaborating,
providing partial definition of term stock administration and
provision of insufficient number of points on the advantage of
Bonded warehouse to the government.

The candidates who scored from 5 to 10 marks in most cases
adhered to the demand of the question. However, their marks
varied due to their differences in ability of responding to the
question. There were some candidates who failed to provide brief
explanation on the term stock administration in part (a) but
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managed to elaborate the functions of stock administration in part
(b). They were also able to list some of the advantages of a
bonded warehouse to the government. Other candidates correctly
explained the term stock administration, listed the advantages of
bonded warehouse to the government and elaborated the functions
of stock administration. One of the functions which was wrongly
elaborated by many candidates was placing of items. They
elaborated it as placing of a new order of stock instead of proper
arrangement of items in the shelves or in store according to their
date of purchase and the date of sale (before expire date). The
candidates confused the functions of stock administration with
types of stock level. They related placing of items found in stock
administration with placing of new order under order point found
in stock level. A sample of such responses is illustrated in Extract
32

Extract 3.2
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Extract 3.2 shows a sample of the correct responses from the
script of a candidate who scored high marks. This candidate was
able to explain the term stock administration, elaborate the
functions of stock administration and list the advantages of a
Bonded warehouse.

Question 4: Business units and wholesale trade

This question had parts (a) to (e), the candidates were required to
differentiate (a) Brokers and Factors, (b) Commission agents and
Del-Credere agents (c) Public corporations and Parastatal Bodies
(d) Specialization and Division of labour and (e) Naked
Debentures and Mortgage Debentures.

This question was attempted by all (100 percent) the candidates
out of which, 88.6 percent scored from 0 to 2.5 marks, among
them 54 percent scored a 0 mark. Furthermore, 6.3 percent scored
from 3 to 4 marks and 5.1 percent scored from 4.5 to 10 marks.
The general performance in this question was poor as 11.4 percent
of candidates scored 30% and above of all marks allotted. Figure
2 illustrates the candidates’ performance in this question.

4.1%

H( - 2.5 Weak
3 -4.5 Average
B5-10 Good

Figure 2: performance in percentage in question 4.

The candidates who scored low marks (from 0 to 2.5) had
inadequate knowledge on the commercial terms tested. The
candidates who scored a 0 mark failed to differentiate the terms as
required. Some of them misinterpreted some of the terms, for
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example in part (a), some candidates mentioned the factors of
production such as land, labour, capital and entrepreneur instead
of differentiating Broker and Factor. On the other hand, others
considered Brokers as persons who break the bulk instead of the
agents who represent a buyer or seller in negotiating a purchase or
sales of goods without physically handling them. Most of the
candidates who scored 0.5 to 2.5 marks in this group managed to
differentiate specialization and division of labour while others
provide insufficient descriptions on differentiating the terms.
Extract 4.1 is a sample of poor response from a script of the
candidate who scored a 0 mark.

Extract 4.1

4‘ (Q) Bavers 3 dne an Lu‘-o chand kn“(- q‘c c(dmt

WHiLe:

Te‘ns ke ‘me d‘«s »m&s Y, Lc tocsr .

@D(smmﬂm qicnk bk Gle pesin uly (LE wilty

\wstms k_m

Wluies

beb(‘mML(kjcg!s \ d\c (414 uLo ;\m{s m'l(p

Aene \l ﬁu(‘

4 ﬁ buLw, formqpmr\ k QQ( pulzu‘c fco?uns'mn with

Uged udlt anyene.

\WiiLg

bmsfqlgt_bn-hcs dﬂs \anneA Ll a persd) St

“3 x‘xn\lﬂ[t and s \ked \n Sd&JOJ Pecp\f

P

(-:B PC&QLQ‘-L»O l? (-‘\\LI m (.I LuhﬂC?S

WHiLE @

‘\N\Slc‘[ U!I:J&L_pu q[e J\ulJ(J (t \anr lL,Lm

O eq  (on ncL\ln a '&» qugg ke foufx&] e

A___wunaeq

ﬁ MQ‘Z(‘J Dobeatures dLs b o Jchlur@ u‘nctc lq

ls el b i \»lgvmj\w

et €.

Moodade belsen-lum-ls dhe ene_which ae ol

able ﬁb Ued l:‘\ 00 eqe -

\J (8]

15



Extract 4.1 shows a sample of response from a script of the
candidate who scored a 0 mark. This candidate failed
differentiates the commercial terms.

The candidates who scored from 3 to 4 marks responded partially
to some parts of the question due to partial knowledge on the
concepts as their responses showed some discrepancies like
incomplete meaning on some of the terms and others cited some
examples of the terms instead of differentiating them. Most of
candidates correctly responded to parts (d) and (e), but some
candidates’ responses in part (¢), Naked Debentures and Mortgage
Debentures encountered with some weaknesses. One among the
noted weakness was that, candidates differentiated the naked from
mortgage debentures as naked debentures do not have security
pledge while mortgage debentures the property is pledge against
the loan but they did not explain what happened if a debenture
holder failed to repay the loan.

Candidates who managed to score 4.5 to 10 marks understood the
demands of the question and had sufficient knowledge on the
commercial terms given. The candidates who scored all 10 marks
managed to provide clear distinction on the terms. However,
candidates’ marks varied due to their varied competence of
differentiating the terms. Extract 4.2 revealed a sample of a good
response.
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Extract 4.2
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Extract 4.2 shows a sample of a response from a script of a
candidate who scored high marks. This candidate was able to
differentiate correctly the terms.
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2.5

Question 5: Whole Sale Trade and Retail Trade

The question had parts (a) and (b). Part (a) required the candidates
to design an invoice for the data provided. In part (b), they were
required to describe the term (i) trade discount and (ii) cash
discount.

This question was attempted by all (100%) the candidates of
which, 80.7 percent scored from 0 to 2.5 marks but 62 percent in
this category scored a 0 mark. Nevertheless, 9.7 percent scored
from 3 to 4 marks and 9.6 percent score from 4.5 to 10 marks. The
data analysis shows that the performance of the candidates in this
question was poor.

The majority of the candidates (80.7%) scored low marks
including 62 percent who scored a 0 mark. Poor performance was
caused by a number of factors; like failure to identify the demand
of the question, poor knowledge on trade documents used in home
trade and incompetence in simple calculations for example, some
candidates who failed to interpret and use correctly the data
provided in part (a), multiplied the weight on each item with the
price per unit and found 5% from the result on each item as trade
discount and they did not prepare an invoice Others failed to
differentiate invoice from the books of prime entry by noticing
that an invoice is a source document used in the preparation of
some books of prime entry like sales and purchases day book.
They were attracted by the data which resembles the one used in
the preparation of sales day book/purchases but failed to identify
the requirement of the question. Some candidates prepared cash
account and others drew demand and supply curves which were
meaning less to the question’ demand. Supply curve is a curve
which shows the relationship between price per unit and quantity
supplied whereby demand curve is a curve which shows the
relationship between price and quantity demanded. Extract 5.1 is a
sample of poor response from a candidate who failed to
understand the demands of the question.
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Extract 5.1
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Extract 5.1 is a part of a sample of a poor response from the script

of a candidate who failed to prepare an invoice in part (a). The
candidate computed the units of items and deducted discount from

the wrong figures obtained from incorrect calculations.
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On the other hand, the candidates who scored from 4.5 to 10
marks understood the requirement of the question, had sufficient
knowledge and calculation skills. However, the candidates who
could not score 10 allotted marks managed to differentiate
correctly trade discount from cash discount in part (b), but failed
to score full in part (a) as they failed to show properly the address
of the seller and buyer, the date and invoice number. Other
candidates managed to show correctly the addresses, date and
invoice number but failed to calculate the correct amount of trade
discount hence obtained incorrect amount to be paid by the buyer.
Nevertheless, only 0.1 percent of all the candidates scored 10
marks allotted as they managed to differentiate correctly trade
discount from cash discount and design an invoice. Extract 5.2
evidences the work done by a candidate who had adequate
knowledge on trade documents used in home trade.
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Extract 5.2 is a sample of a good response from the script of a
candidate who properly designed an invoice and differentiated
trade discount from cash discount.

Question 6: Banking

The question had two parts; (a) and (b). In part (a) (i) the question
required the candidates to explanation briefly on the term cheque
and (ii) to elaborate three parties to a cheque. In part (b)
candidates were required to describe the advantages of paying the
debts by cheque.

The question was attempted by all candidates (100%) whereby
72.7 percent scored from 0 to 2.5 marks, 13.7 percent scored from
3 to 4 marks and 13.6 percent scored from 4.5 to 10 marks.
Therefore the overall performance was poor.

Most of the candidates (72.7%) who scored from 0 to 2.5 marks
managed to mention the parties to a cheque such as drawer,
drawee and payee in part (a) (ii) but failed to provide correct
elaborations. Others listed the advantages of paying by cheque
without giving any descriptions thus scored few marks. However,
the candidates who scored a 0 mark had some weaknesses in
attempting the question such as misinterpreting the question, for
example, the term cheque in part (a) (i), was misinterpreted as
check, and (ii) parties to a cheque was incorrectly interpreted as
types of cheque. In part (b) some candidates responded on the
reasons for a cheque being dishonoured instead of the advantages
of paying by cheque. Extract 6.1 shows a sample of a response
from a script of a candidate with inadequate knowledge on
banking.
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Extract 6.1
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Extract 6.1 shows a sample of poor response from a script of a
candidate who failed to define the term cheque, listed the
terminologies from banking topic in part (a) (ii) and mentioned
some advantages of advertising to the business in part (b).

On the other hand, the candidates who scored from 3 to 4 marks
had knowledge to some parts of the question but failed to apply
such knowledge to meet the demand of the question. There were
some candidates who managed to define a cheque and elaborate
parties to a cheque while others mention the parties to a cheque
and some advantages of paying the debts by cheque.

Lastly, the candidates who performed well (13.6%) showed good
mastery on banking topic and adhered to the demand of the
question. Most of them managed to answer correctly part (a) and
partially part (b). However, very few candidates managed to score
all full marks because they were able to define the tern cheques,
elaborate parties to a cheque and explain the advantages of paying
the debts by cheque. However, their scores varied according to
their ability to provide coherent descriptions according to the
demands of the question. Extract 6.2 is a sample of good response
from a candidate who scored high marks.
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Extract 6.2
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2.7

Extract 6.2 indicates the responses of the candidate who adhered
to the demand of the question. This candidate managed to define
the term cheque, elaborate the parties to a cheque and describe
advantages of paying the debts by cheque.

Question 7: Transportation

The question required the candidates to describe the advantages
and disadvantages of using air transport for transporting flowers
and fishes from Tanzania to Japan to a businessman.

The question was attempted by 75.8 percent of the candidates and
the general performance was average as 15.9 percent scored from
9.5 to 17 marks, 23.3 percent scored from 6 to 8.5 marks and 60.8
percent scored from O to 2.5 marks of which 13.7 percent scored a
0 mark.

The candidates with good performance managed to explain the
advantages and disadvantages of air transport to businessman who
deals with perishable goods. However, there were some
discrepancies noted on the candidates’ responses such as some
general advantages and disadvantage of air transport which were
not applicable to the trader as the question required.

The candidates with an average performance (23.3%) described
few advantages and disadvantages of air transport to a business
dealer who deals with perishable goods over long distance. Other
candidates pointed out the correct advantages and disadvantages
but they explained them superficially.

On the other hand, the candidates who scored low marks (0.5 to 5)
had inadequate knowledge on air transport because most of them
described the simplest advantage and disadvantage to recall like
faster and very expensive means of transport respectively. The
main reason for their response on these two points was the nature
of transport itself. However, some of them failed to provide
correct descriptions to the disadvantage mentioned very expensive
because the descriptions of the majority was about high initial and
maintenance cost which was incorrect. The correct description

was supposed to base on transportation cost. Others managed to
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describe the two points correctly and pointed out other
advantages/disadvantages without any descriptions.

Nevertheless, some candidates who scored a 0 mark
misunderstand the question thus provide general advantages of air
transport such as transportation of delicate and valuable goods,
creation of employment and rise government revenue. These
candidates did not read the question carefully. Some candidates
who misinterpreted the question listed different mode of transport
while others pointed out the elements of transport. Furthermore,
others copied the question. Extract 7.1 is a sample of poor
response. Extract 7.2 shows a sample of incorrect response from a
script of the candidate who used poor English Language and
misinterpreted the question.

Extract 7.1
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In extract 7.1 indicates a response from a candidate who
incorrectly listed advantages and disadvantages of air transport

to a trader contrary to the demand of the question.
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Extract 7.2
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Extract 7.2 is a sample of poor response from a script of one of
the candidates who provide irrelevant points to the question.
This candidate failed to interpret the question and used poor
English Language in her/his responses.

2.8  Question 8: Marketing

The question had three parts: (a), (b) and (c). The candidates were
required to: (a) explain the advantages of packing of the product,
(b) explain three main methods of personal selling to the producer
of the goods and (c) elaborate two limitations of personal selling
to the producer of goods.
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This was the least opted question as it was attempted by only 6.9
percent of all candidates. The candidates’ performance was poor
as 94.6 percent scored from 0 to 5.5 marks of which, 47.4 percent
scored a 0 mark, 3.4 percent scored from 6 to 8.5 marks and only
2 percent scored from 9 to 18 marks.

The majority of the candidates (94.6%) who scored low marks
lacked knowledge on marketing. Those who scored a 0 mark
failed to provide any relevant response to all parts of the question.
For example in part (a), some provided examples of packing
materials which are used to pack in different products like; plastic
bags, boxes and disposable soft drinks containers. Nevertheless,
others explained the importance of marketing instead of the
advantages of packing the product in part (a). Most of the
candidates did not attempt part (b) and (c) and few who attempted
then provided incorrect, for example, some of the candidates
explained the method/ways in which wholesalers can be
eliminated from the distribution channel in part (b). These suggest
that probably the topic was not well understood. Extract 8.1
present a sample of poor response from a script of a candidates
who scored a 0 mark. This candidate deviated completely from the
requirement of the question.

Extract 8.1
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Extract 8.1 shows a poor response from a script of the candidate
who drew a commerce chart and incorrectly elaborated commerce
with its branches

On the other hand, few candidates (2%) who scored from 9 to 18
marks had adequate knowledge on marketing topic and hence
managed to answer the question according to its demand.
However, the candidates’ scores varied from one candidate to
another depending on the individual candidate ability to elaborate
and explain the points to each part. However, majority of the
candidates responded only in part (a). Extract 8.2 is a sample of
good response from a script of a candidate who managed to
attempt all parts of the question.

Extract 8.2
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In extract 8.2 the candidate managed to explain the advantages
and disadvantages of packing the product, the methods of personal
selling to a producer of goods and the limitations of personal
selling to a producer of goods.
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2.9

Question 9: International Trade

The question had two parts (a) and (b). The candidates were
required to (a) discuss the problems faced by Tanzania for being
involved in international trade and (b) explain the methods used
by a country to control the volume of imports.

It was attempted by 69.2 percent of all candidates whereby 84.8
percent scored 0 to 5.5 marks, 10.3 percent scored from 6 to 8.5
marks and only 4.9 percent from 9 to 19 marks. The analysis
shows that the general performance in this question was weak
since only 15.2 percent of the candidates managed to score the
average marks of 30 percent and above

The majority of the candidates (84.8%) whose performance was
weak had insufficient knowledge of the topic on international
trade. Part (a) of this question challenged most of the candidates
however, the majority of these candidates scored few marks from
part (b) because they were able to discuss at least few methods of
controlling the volume of imports. Other candidates in this group
mentioned few methods while others failed to provide clear
explanations. However, some candidates who scored 0 marks
discussed the reasons for international trade while others
responded on advantages of international trade. Extract 9.1 is a
sample of poor response from a candidate who listed the
documents used in international trade with incorrect explanations.

Extract 9.1
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The candidates (15.2%) who scored an average of 30 % and above
of the marks allotted had sufficient knowledge on international
trade. They applied such knowledge on responding to the question
such as explaining the methods used to control the volume of
imports. Majority of the candidates in this group explained
methods used to control import though some of them were not
able to provide appropriate explanation to the points. Extract 9.2
shows a sample of good response.

Vse. Yo \ondr) “nr \Nalume S imfc‘fh-

Extract 9. 1 presents incorrect response from a script of a
candidate who scored a 0 mark. The candidate explained
different documents used in international trade which did not

relate to the requirement of the question.
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Extract 9.2
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Extract 9.2 is a sample of good response from the scrip of a
candidate who managed to score high marks as he/she was able to
adhere to the requirement of the question.

Question 10: Wholesale Trade and Retail Trade

The question had three parts (a), (b) and (c). The candidates were
required to: (a) differentiate wholesale trade from retail trade, (b)
elaborate the services provided by a retailer to the final consumers
and (c) describe four steps involved in the distribution of goods
from the manufacturer to the final consumers.

This question was attempted by 36.6 percent of the candidates
from which 62.2 percent scored from 0 to 5.5 marks, 26.9 scored
from 6 to 9 marks and 10.9 percent scored from 9.5 to 18 marks.
The analysis shows that the performance in this question was
average.

The candidates with high scores (9 to 18 marks) understood the
demand of the question and were knowledgeable on the subject
matter. Some of these candidates managed to provide correct
distinction between wholesale trade and retail trade. This
portrayed their understanding on the branches of home trade.
However, they failed to give sufficient elaborations to some
services provided by the retailer to the consumers with insufficient
elaborations to some of the services in part (b). Others responded
correctly to the services of the retailers to final consumers by
providing at least four points. Some of the services provided by
these candidates were incorrect because they involved retailers to
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manufactures services. There were few candidates who managed
to score above 15 marks out of 20 marks as they were able to
respond correctly to part (a), (c) and partially in part (b). Extract
10.1 presents a sample of good response from the script of one of
the candidates who scored high marks.

Extract 10.1
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Extract 10.1 shows a sample of good response from a candidate

who was able to meet requirement of the question.

The candidates who scored from 6 to 8.5 marks answered some
parts of the question partially by providing unsatisfactory
explanations to some of the parts. For example in part (b), most of
the candidates mentioned the services provided by the retailer to
the final consumers, and few among them elaborated the points
but failed to provide adequate explanations that match with the

services mentioned.

However, the candidates who scored low marks (0 to 5.5) showed
some weakness like inability to identify the demand of the
question, poor knowledge on wholesale and retail trade and poor
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command of English Language. The candidates who scored a 0
mark failed to differentiate a trader with trade so they
differentiated wholesale trader from retailer instead of wholesale
trade and retail trade in part (a). In part (b), some of these
candidates misinterpreted the term services from the question and
translated it as goods supplied by the retailers to the final
consumers while others regarded it as the qualities of a good
retailer. In part (c), some candidates mentioned the middlemen
who are involved in the channel of distribution instead of the
steps. Extract 10.1 is a poor response from a candidate who
wrongly translated the question.

Extract 10.2
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Extract 10. 2 is a sample of poor response from a candidate who
misinterpreted the question. He/she regarded trade as traders,
mentioned some goods involved in trade and also used improper
English Language.
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3.0

4.0

4.1

CANDIDATES’ PERFORMANCE IN EACH TOPIC

The analysis of the candidates’ performance in CSEE 2015 in 061
Commerce subject shows that the general performance of the candidates
was average. Question 1, which comprised the multiple choice items set
from various topics maintained its good performance it performance has
increased to 63.1 compared to 61.1 in 2014. The analysis shows that,
candidates had an average performance in the topics of Transportation
(39.2%), Wholesale and Retail Trade (37.8%) and Insurance (34.5%).

Further analysis shows that, candidates’ performance was weak in the
following topics: Stock Administration and Warehousing (29.7%),
Banking (27.3%), Production and Business Units (15.2%), Import and
Export Trade (11.4%), and Marketing (5.2%). The reasons for poor
performance in these topics are misinterpretation of the questions,
inadequate knowledge and poor mastery of English language.

The 2015 performance shows a decline in performance in the topics of
Wholesale and Retail Trade, and Import and Export Trade. The analysis
shows that in 2014 the performance Wholesale, Retail Trade was 53.5
percent (good) while in 2015 it was 37.8 percent (average). On the other
hand, in 2014 performance of Import and Export Trade topics was 31.7
(average) while in 2015 it was 15.2 percent (weak). The comparison of
the candidates’ performance topic wise between CSEE 2014 and 2015 is
summarised in the Appendix.

CONCLUSIONS AND RECOMMENDATIONS

Conclusions

The analysis of the candidates’ performance in the CSEE 2015
Commerce subject indicates a slight increase in the candidates’
performance by 3.56 percent as compared to CSEE 2014. The reasons for
such an increase could be attributed to candidates’ better understanding of
some questions, proper presentation of responses to some questions and
proper use of the English language by some of the candidates.
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4.2

However, some of the candidates encountered problems in the
interpretation of the questions due to poor mastery of the English
language or inadequate knowledge of the topics tested.

Recommendations

In order to improve the performance of the candidates in the Commerce
subject the following are recommended:

(a)

(b)

(c)

(d)

(e)

®

(2)

(h)

Teachers should make sure that all topics are exhaustively taught
according to the syllabus.

The candidates should revise the topics taught, especially on the
areas found difficult in learning process.

Teachers should set the examinations which are competence based
to their candidates.

Teachers should encourage candidates to read different
commercial books to widen their knowledge of the subject.

Teachers and parents should encourage candidates to read different
novels journals and magazines to improve their English Language
which is the medium of instructions.

Candidates should be very careful when reading the examination
questions so as to identify the requirement of the questions.

Teachers should give adequate number of exercises and assignments
to their candidates and provide them with feedbacks.

School inspectors should make regular visits to schools in order to
observe how effective teaching and learning process is conducted.
The authority concerned should ensure availability of qualified
Commerce teachers in schools.
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Appendix

The Summary Showing the Comparison of the Candidates Performance
topic wise for the Years 2014 and 2015

CSEE 2014 CSEE 2015
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